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General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 

      
    . 
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PART – I 

A. Answer any five questions from 1 to 9. Each carries 1 score. (5  1 = 5) 

1. _______ is an example of amorphous solids. 

 (a) Quartz (b) Rubber (c) NaCl 

 

2. If the salt concentration is less than 0.9%, the solution is said to be ________. 

 (a) Hypertonic (b) Hypotonic (c) Osmosis 

 

3. Electric potential of Daniel cell has ________. 

 (a) 1.5 V (b) 1.1 V (c) 2 V 

 

4. Unit of rate constant for first order reaction is ________. 

 (a) S (b) S–1 (c) S–2 

 

5. ________ is a bulk phenomenon. (Adsorption/Absorption) 

 

6. _________ is an ore of Aluminum. 

 

7. The chlorofluro carbon compounds of methane and ethane are collectively known as 

________. 

 

8. _______ is an another name of Phenol. 

 

9. Write the IUPAC name of the given compound : 
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PART – I 

A. 1  9   5  .  1  . 

     (5  1 = 5) 

1. _______      . 

 (a)  (b)  (c) NaCl 

 

2.   0.9%    ________  
. 

 (a)  (b)  (c)  

 

3.     ________ . 

 (a) 1.5 V (b) 1.1 V (c) 2 V 

 

4.       ______ . 

 (a) S (b) S–1 (c) S–2 

 

5. ________   . (/ ) 

 

6.    _______. 

 

7.      

 _________ . 

 

8.    _______ . 

 

9.    IUPAC   : 
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B. Answer all questions from 10 to 13. Each carries 1 score. (4  1 = 4) 

10. Write the correct symbol of limiting molar conductivity from the following : 

  (m / m) 

 

11. Which of the following is a polysaccharide ? 

 (a) Sucrose (b) Cellulose (c) Maltose 

 

12. ________ is a thermoplastic polymer. 

 (a) Buna-S (b) Polythene (c) Bakelite 

 

13. _______ is the chemicals which either kill or prevent the growth of micro-organisms. 

 (a) Antibiotics (b) Antiseptics (c) Analgesics 

 

PART – II 

A. Answer any two questions from 14 to 17. Each carries 2 scores. (2  2 = 4) 

14. Define Unit cell. 

 

15. State Raoult’s law. 

 

16. What are the factors influencing the rate of a reaction. 

 

17. Define Lanthanoid contraction. 
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B. 10      13          .  1  . 

     (4  1 = 4) 

10.        

  : 

  (m / m) 

 

11.    ? 

 (a)  (b)  (c)  

 

12. ________     .  

 (a) -S (b)  (c)  

 

13.        

 _______ . 

 (a)  (b)  (c)  

 

PART – II 

A. 14      17    2    .  2   

.   (2  2 = 4) 

 

14.   . 

 

15.    . 

 

16.      .  

 

17.   . 
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B. Answer any two questions from 18 to 20. Each carries 2 scores. (2  2 = 4) 

18. Transition metals generally form coloured compounds. Why ? 

 

19. Aniline does not undergo Friedel Crafts reaction why ? 

 

20. Write the chemical name of the following diazonium salt : 

 (a) C6H5 N

2

Cl – (1) 

 (b) C6H5 N

2

 HSO –
4  (1) 

 

PART – III 

A. Answer any three questions from 21 to 24. Each carries 3 scores. (3  3 = 9) 

 

21. (a) Define ionic solids. (2) 

 (b) Write an example of ionic solids. (1) 

 

22. Write any two applications of Henry’s law. 

 

23. Calculate the overall order of a reaction which has the rate expression : 

 (a) Rate = k[A] 2
1

 [B] 2
4

 (1½) 

 (b) Rate = k[A] 2
3

 [B]–2 (1½) 

 

24. List the correct uses of Dichloromethane polyhalogen compounds from the following : 

 Hint :  Air conditioning 

    Paint remover 

    Metal cleaning & finishing solvent 

    Antiseptic 

    Propellant in aerosols 
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B. 18    20    2   .  2  . 

      (2  2 = 4) 

18.       
  ? 

 

19.        ? 

 

20.       : 

 (a) C6H5 N

2

Cl – (1) 

 (b) C6H5 N

2

 HSO –
4  (1) 

 

PART – III 

A. 21    24     3   .   3    

.   (3  3 = 9) 

 

21. (a)   . (2) 

 (b)     .  (1) 

 

22.      . 

 

23.        
  : 

 (a) Rate = k[A] 2
1

 [B] 2
4

 (1½) 

 (b) Rate = k[A] 2
3

 [B]–2 (1½) 

 

24.        
   : 

  :    

        

        

      

         



SY-64 8  

B. Answer any two questions from 25 to 27. Each carries 3 scores. (2  3 = 6) 

25. Explain the following reaction :  

 (a) Wurtz-Fittig reaction (1½) 

 (b) Fittig reaction (1½) 

 

26. Write the product of the following reactions : 

 (a)   
Conc · HNO3    ?     (1½) 

 (b)   + 3Br2   ?   (1½) 

 

27. What are the products obtained at A and B from the following reaction ? 

    
Oleum

   A     
(i) NaOH

 
(ii) H+

  B     

 

PART – IV 

A. Answer any three questions from 28 to 31. Each carries 4 scores. (3  4 = 12) 

28. Complete the following table : 

Primary Battery Secondary Battery 

 Cannot be recharged  __________ 

 __________  Used again and again 

 Mercury cell  __________ 
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B. 25  27   2    .  3     

.   (2  3 = 6) 

25.     :  

 (a)  –   (1½) 

 (b)   (1½) 

 

26.      : 

 (a)   
Conc · HNO3    ?     (1½) 

 (b)   + 3Br2   ?   (1½) 

 

27.    A  B    

  ? 

    
Oleum

   A     
(i) NaOH

 
(ii) H+

  B     

 

PART – IV 

A. 28    31      3   . 4     

.   (3  4 = 12) 

28.    : 

    

    
 

 __________ 

 __________   
 

    __________ 
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29. Write the distinction between Physisorption and Chemisorption. 

 

30. Match the following : 

        A B 

(a) Distillation (a) Ge 

(b) Liquation (b) Ni 

(c) Zone refining  (c) Zn 

(d) Vapour Phase refining (d) Sn 

 

31. (a) Define Monosaccharides. (2) 

 (b) Write any two examples of Monosaccharides. (2) 

 

B. Answer any one question from 32 to 33. Carries 4 scores. (1  4 = 4) 

32. (a) Define condensation polymerisation. (2) 

 (b) Write any two important condensation polymerisation reactions. (2) 

 

33. (a) Define Analgesics. (2) 

 (b) Write the two types of analgesics. (2) 

 

PART – V 

 Answer any two questions from 34 to 36. Carries 6 scores. (2  6 = 12) 

34. (a) Name the process used for the manufacturing of ammonia. (1) 

 (b) Why does NH3 act as a Lewis base ? (2) 

 (c) Write any two uses of Ammonia. (3) 

 

35. (a) Define structural isomerism. (2) 

 (b) Write any two types of structural isomerism. (2) 

 (c) Explain any one type of structural isomerism. (2) 

 

36. Explain the following : 

 (a) Etard reaction (3) 

 (b) Gatterman-Koch reaction (3) 

____________ 
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29.     . 
 
30.  : 

        A B 
(a)   (a) Ge 

(b)  (b) Ni 

(c)   (c) Zn 

(d)    (d) Sn 

 
31. (a)   . (2) 

 (b)       . (2) 
 

B. 32      33    1    .  4  . 

     (1  4 = 4) 
32. (a)   . (2) 

 (b)      
 . (2) 

 
33. (a)   . (2) 

 (b)      .  (2) 
 

PART – V 
 34   36    2    .  6  . 

     (2  6 = 12) 
34. (a)      

.  (1) 

 (b)      ? (2) 

 (c)     . (3) 

 
35. (a)   . (2) 

 (b)     . (2) 

 (c)     . (2) 

 
36.    : 

 (a)   (3) 

 (b)  –    (3) 

____________ 
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